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residual of frame 2, mean = 0.24424217641353607 +-11.912792205810547
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residual of frame 5, mean = 2.0861523151397705 +-11.931417465209961
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residual of frame 7, mean = 3.9482898712158203 +-12.068838119506836
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residual of frame 2 - 3, mean = 5.2469377517700195 +- 16.9364013671875
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9.145796775817871 +- 16.982681274414062
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residual of frame 4 - 5, mean = 2.0569446086883545 +- 16.838808059692383
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residual of frame 6 - 7, mean = 1.1675736904144287 +- 16.961814880371094
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= -4.53510856628418 +-17.032934188842773

dual of frame 7 - 8, mean
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residual of frame 8 - 9, mean = 4.584079742431641 +- 16.85663414001465
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